O]l & AF & & M A

= - . SHE]|
SA - BB O (BH) - MRAY - HES O & o8 e HDE2
22 = 281,508,775 237,018,843 44,489,932
= 63,048,785
s 65,305,000
J| 33, 185,660
< 119,969,330
E o0l = At 0t 73,788,601 54,183,579 19,605,022
=2 18,170,419
s 10,784,000
| 5,045,334
< 39,788,848
2tz Y 44,557,544 35,662,930 8,894,614
= 3,227,885
s 10,784,000
| 3,677,750
< 26,867,909
Zoto=XNg 435 7,191,972 2,937,103 4,254,869
= 370,867
s 2,775,000
< 4,046,105
S8 A72AMY K& 159,369 140,638 18,731
308 AXIEHS0IA 159,369 140,638 18,731
10 B3I/ 2SOHUSZAEEALS I 159,369 140,638 18,731
OF=8 oA 159,369
NEZEENHE =8 80,000 0 80,000
201 L2l 1,600 0 1,600
01 At 22l 1,600 0 1,600
ONH2STEHE 48 8% +22 1,600
207 Ao 2| 78,400 0 78,400
01 A EAHI 78,400 0 78,400
OXNdesEEsHe +8 78,400
HECX(EE) B 500,000 0 500,000
308 XXM S0 A 500,000 0 500,000
10 3/ 2SOHUHSZAEEALS I 500,000 0 500,000
OSSN () HA 500,000
MEY BHUHE ZHALY 1,080,000 0 1,080,000
s 900,000
< 180,000
403 MHXI S E X201 & 1,080,000 0 1,080,000
s 900,000
= 180,000
01 XM A=2EER 1,080,000 0 1,080,000
OM=Y HHUHE ZTAHAIY 1,080,000
= 900,000




Ol=X& 43t (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t

| < 180,000

2ot 2325 222 ZEAY 630,000 0 630,000
s 525,000
< 105,000

403 Mt SHHSA=0l& 630,000 0 630,000
s 525,000
< 105,000

01 HIXSHMA2E X 630,000 0 630,000
OFstet 23723 222 ZEAY 630,000
s 525,000
< 105,000

oAt Bl E 22 ZHAY 360,000 0 360,000
s 300,000
< 60,000

403 X SHHE A0l & 360,000 0 360,000
s 300,000
< 60,000

01 XM A=2E X 360,000 0 360,000
O=stet Hel25 222 ZEAY 360,000
s 300,000
< 60,000

Y 2HFX0IS ZHAY 480,000 0 480,000
s 400,000
< 80,000

403 XtXISHAI S Xt 2 0 & 480,000 0 480,000
s 400,000
< 80,000

01 X EHHMA=ZLE L 480,000 0 480,000
O3 SSH&EHZ0IS ZEAMY 480,000
as 400,000
< 80,000

¢y BS=2stots Z8AE 780,000 0 780,000
s 650,000
S 130,000

403 XA SA=0l& 780,000 0 780,000
s 650,000
< 130,000

01 HXSHMA=E X 780,000 0 780,000
Ot ASZ30t2 =8AY 780,000
s 650,000
= 130,000

S23ASTHNY TS (MEAY) 435,000 551,000 A 116,000

308 XXM SO A 435,000 551,000 A 116,000

01 IXNHHBANEES 435,000 551,000 A 116,000
OHF2stE A =24 435,000
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AR BoHsHE=2 2N 230= 40
HH: 230z 2L
el BN 24835 (SH9: &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o gﬁ‘&i HR=2
= 220,867
& 94,657
307 2iz2to| A 315,524 221,221 94,303
= 220,867
&< 94,657
02 QIZ2IAAAIE E X 315,524 221,221 94,303
Ootgtte oloIgnL &#sHl XA 315,524
= 220,867
& 94,657
23 Ues ¥ SSF2AHE 150,000 280,000 A 130,000
= 150,000
308 MXISHMSOIA 150,000 100,000 50,000
= 150,000
01 IXHHIMNEXS 150,000 100,000 50,000
o'z £ 20! s 50,000
= 50,000
036.5CT=2 2= A, 3B6.5TA =H 100,000
= 100,000
B2ssM 243 N 20,000 20,000 0
308 XAHXIGHH SO0l & 20,000 20,000 0
01 AIKISHHENEXZ 20,000 20,000 0
OosgssN g4d3 20,000
SHSC2SMARTE X2 23,368 26,745 N3,377
201 et 9| 23,368 26,745 NG,377
02 2324 23,368 26,745 NG,377
O2322 % HA 4,920
OA & &Hl S XYl 18,448
ESE=E0z=0g 2 24 488,432 98,332 390, 100
307 giztol & 488,432 98,332 390, 100
05 QIZtR E S 488,432 98,332 390, 100
O=Es230z2s 2 29 488,432
TEXEANY 16,650 18,500 A 1,850
307 QI2t0| ™ 16,650 18,500 A 1,850
04 CIZ2tSHAPALS B X 16,650 18,500 A 1,850
OEEXNEANY 16,650
CEHMH3 s nsid 23,400 23,400 0
308 XX SHHSOIH 23,400 23,400 0
01 AIXSHMENEXZ 23,400 23,400 0
OEEHd3 =2 23,400
SH=EE FuUs 24 30,000 30,000 0




A= 2o Ms2E= PN 230l A
M 2oz 2L
& 2o=X2 243 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 30,000 30,000 0
02 PIZHEHAHEE 30,000 30,000 0
OFF=E Ruis =249 30,000
Fal=2e R 127,500 132,500 A5,000
201 L4l 39,500 39,500 0
01 At 22l 39,500 39,500 0
OBt & =2t 23,000
O20i=aAMN EE2LAT MH 15,000
O=gtl 1,500
- Zll=dAMFT 1,500
203 YR =&l 58,000 63,000 A5,000
03 AIMF=XH R =AY 58,000 63,000 A5,000
OXNLZatol=At =& 38,000
O=Zst 22 LAY =& 5,000
O2% & =8z =& 15,000
405 RHoHE S HI 30,000 30,000 0
01 et EFSFHSHI 30,000 30,000 0
OnlesE(ds, Mol 8) 7€ 30,000
E=FMHY 29 XA 1,355,769 1,226,767 129,002
306 =93 1,355,769 1,226,767 129,002
01 &3 1,355,769 1,226,767 129,002
Os=2=2stMe 294 N& 1,355,769
=3 gZe 5 @ ZEH=x 54 21,418,982 15,417,844 6,001,138
= 1,001,808
s 8,009,000
< 12,408,174
SHAACIAS HaA 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OM17a SUHASHCIXC Had 30,000
g2 9 02 243 75,000 0 75,000
308 XA EHSOIA 75,000 0 75,000
01 HIXNHHBMNEELS 75,000 0 75,000
Ogts2 & Ol=2 483 XNFAY 75,000
HE=HsS4EstHd XA 500,000 400,000 100,000
308 XXM SOl A 500,000 400,000 100,000
01 IXNHHBNEES 500,000 400,000 100,000
OHMl16al M&E=HMSSstH 500,000
Ectot st MEXA 126,200 128,000 A 1,800




A= 2o Ms2E= PN 230l A
M 2oz 2L
S 23 QIe RS Y BEHX K4 EERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 26,200 28,000 A 1,800
02 PIZHEHAHEE 26,200 28,000 A 1,800
ottdsd st =™ 'O’ 10,000
OZ a2 AH X 23l 16,200
308 A EHHSOIA 100,000 100,000 0
01 HXNHHNBHELS 100,000 100,000 0
OEectotd st MR 100,000
S5 =320t 2S X 300,000 1,300,000 A 1,000,000
308 XAHXIEHHSOIA 300,000 1,300,000 A 1,000,000
01 HIXNHHBNEES 300,000 1,300,000 A 1,000,000
Os=s 2 =320ty 29X 300,000
ZeH==28H 29 25,800 0 25,800
308 XXM SOl A 25,800 0 25,800
10 I/ 2 SO0CHetE & X 2 E AL I 25,800 0 25,800
OZE= =8H =294 25,800
A Z0F AFAIENY =& 50,000 50,000 0
308 XX EHHSOIA 50,000 50,000 0
10 BN 2SUHUEEAAEAE A 50,000 50,000 0
OZstetHZ0F A RAIHIHE =& 50,000
X Delob HAEIHE(MEAY) 270,000 0 270,000
308 AHAIEHHSOIA 270,000 0 270,000
01 HXNHHBMNEELS 270,000 0 270,000
O&XZelot HAEY 270,000
X MUCHE 18,000 18,000 0
308 XXM SO0l A 18,000 18,000 0
01 HIXNHHNBNEES 18,000 18,000 0
OM173l HXMMLH 18,000
eATZ=x U3l JHxEl ¥ FDIt 30,000 30,000 0
308 XXM SOIA 30,000 30,000 0
10 I/ 2 SOICHetE & X 2 E A I 30,000 30,000 0
O8=2 e2Z=[3 30,000
HEEA2 XNE2E 285,000 0 285,000
201 Let24d] 10,000 0 10,000
01 At 2teltl 10,000 0 10,000
Ot & =2t 10,000
207 O] 250,000 0 250,000
02 & AR I 250,000 0 250,000




A= 2oHs2E3 PN 230l A
M 2oz 2L
Sl 23 Qe UE U BHX FY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O N2 SEZEANAE 25 250,000
405 TtHabF S| 25,000 0 25,000
01 AL ESH SH 25,000 0 25,000
OUEEMZ 2 ARIID ¢ 25,000
SEEM2 28 X& 7,635,000 9,926,000 22,291,000
s 5,774,000
< 1,861,000
403 A X EHHS 20l A 7,635,000 9,926,000 22,291,000
s 5,774,000
< 1,861,000
01 X EHHMA=LE L 7,635,000 9,926,000 A 2,291,000
OMNEXNY Eh2 & 2oty HE 3,147,500
s 2,570,000
< 577,500
OSAMEZA HHE0EM2 HdE 937,000
s 937,000
OlaENM2 55 & 2I22¥ 1,050,000
as 600,000
< 450,000
Og=cl B2=Aha2 HE 2,500,500
s 1,667,000
< 833,500
ST M2 H2AIZ HE2Y 1,385,922 1,268,784 117,138
= 923,948
< 461,974
308 XX EHH SOl A 1,385,922 1,268,784 117,138
= 923,948
< 461,974
01 AXHHILEES 1,385,922 1,268,784 117,138
OSSN A AE2H 1,385,922
= 923,948
= 461,974
U-EA2 MEIA 20 X2 60,000 0 60,000
=2 60,000
403 MHXSHHSA=0l& 60,000 0 60,000
= 60,000
01 HXEHMA=E X 60,000 0 60,000
OU-E M2 MHlA &0 X2 60,000
= 60,000
SN 23 AblA X2 17,860 17,860 0
2 17,860
308 XXM SO A 17,860 17,860 0
= 17,860
01 IXNHHBNEES 17,860 17,860 0




&Y

590,800

A= 2oHs2E3 FM 230
M 2oos &Y
Pl 23 0Tt 7E U BEZ 54 CERED
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
O=M2 Ch23tMblA XIT& 17,860
= 17,860
oA =4 XA 434,000 0 434,000
as 434,000
403 MtXISHHE X201 E 434,000 0 434,000
s 434,000
01 XM A2 X 434,000 0 434,000
Od=s5 A2 =4 112,000
s 112,000
O=ZAMH 22 =4 112,000
s 112,000
OMME A H2T R X4 98,000
s 98,000
Oungs A2z =4 112,000
as 112,000
22 X2 45,000 45,000 0
308 XXM SO0 A 45,000 45,000 0
01 HXNHHBMNEES 45,000 45,000 0
2o S AR 45,000
OtJ12 Mot ALY 23 85,200 85,200 0
308 AXIEtH S0l A 85,200 85,200 0
01 IXNHHBANEES 85,200 85,200 0
OO0tJ12 &Nt HAY 23 85,200
MeERSIHEH 24 1,125,000 0 1,125,000
s 1,125,000
403 XIS E X201 H 1,125,000 0 1,125,000
s 1,125,000
01 X EHHMA=E L 1,125,000 0 1,125,000
OgZe HEEsdH =4 300,000
s 300,000
OAMQZstdly &2 XA 450,000
s 450,000
OZ2s dE2stdH =4 375,000
s 375,000
AFATX, HASAE ST ALY (F &) 85,200 150,000 A 64,800
s 85,200
308 XXX SO0 A 85,200 150,000 A 64,800
s 85,200
01 AXSHBLELS 85,200 150,000 A 64,800
OF=S2&ED 2 THMAI (F4AH) 85,200
as 85,200
AT, HASALE ST ALY (XHE) 590,800 174,000 416,800




A= 2gHsDR= FA 2et0E A
HH: 230z 2L
Sl 23 Qe UE U BHX FY CERED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Ei HR=2
403 XX SHHS K20 & 590,800 174,000 416,800
Fag 590,800
01 XIS A2E X 590,800 174,000 416,800
OHFSEED SHMMAIE (XHE) 590,800
Fag 590,800
HMEW=o MY HE XK (HEBAS) 6,000,000 1,000,000 5,000,000
403 XX SRS K20 & 6,000,000 1,000,000 5,000,000
01 HXHAMAHEBE = 6,000,000 1,000,000 5,000,000
OMAN=2 8 HE XA 6,000,000
Gt &2dat2t HE (MEAIY) 200,000 0 200,000
403 XX S M S K201 A 200,000 0 200,000
01 AXESHIE2E X 200,000 0 200,000
Oy M2t HE 200,000
MHES D=2 S (MEAIY) 1,415,000 0 1,415,000
403 XX SHHM S X201 A 1,415,000 0 1,415,000
01 XIS A2E X 1,415,000 0 1,415,000
OMAHESIDIsS == 1,415,000
SHIIU S 2 JIsSEL(HEAS) 630,000 0 630,000
403 XX SHS K20 & 630,000 0 630,000
01 XIS A2 X 630,000 0 630,000
O=d2slz=zs & Jis2d 630,000
206 SEHXS 105,000 1,505,000 A 1,400,000
20 Aty 2435 105,000 105,000 0
307 2iz2to| & 105,000 105,000 0
05 QIZ2tR E 2 105,000 105,000 0
O203Z2&8U3 JH= 28,000
OZ20¢ s otatdlol W 10,000
OR+Z203 Hg X& 27,000
O2£+=Z20Z 8 - THIHE 2SS ALY 40,000
230z XS 15,841,590 15,802,983 38,607
= 1,855,210
J| 3,677,750
= 10,308,630
HFEWz=MdY 2HH XN 300,000 300,000 0
308 XX SHHSOIH 300,000 300,000 0
01 AIXSHMEMNEXZ 300,000 300,000 0
OFFM=2d8Y 29H K& 300,000
Ssli=&3 HHEEs 12 423,600 428,000 N4 ,400
307 2iz2to| A 165,000 160,000 5,000




M ox
40 5 4
M0 HO MO

SA M. (3H) - NEAY - BAS 0 AF o il HZS2

04 QIZHSHAFAIE 2 X 165,000 160,000 5,000
OHM453 SE=S 0l=0HHA 50,000
OH163 SHET AIX HE3F 20,000
OHM9gl st=2XMS0Ig 32X 15,000
OM30s S=AO0CHA 20,000
OHMB8al &==0l=HAEHY 15,000
02020 &= &KX HdAMS A 10,000
== 012101 A& D& A 10,000
OHM203 SE=EX MU 15,000
OM193 ==0l=83H 10,000

308 AXISHXMSOoIH 258,600 268,000 A9,400

01 AIXHMBAEXZ 13,000 6,000 7,000
O2XZ wa "0l Dream’ 3,000
OHM333 s=0=U3 10,000

10 SISO USHEAANE A 245,600 262,000 A 16,400
Otl=o #&as FHl2 XA 105,600
O== 0lsJl M2dAlE XA 50,000
OFd=)F &2&std & 90,000

|9 SFE JIQM K& 91,000 91,000 0

308 AXISHAMSOIA 91,000 91,000 0

01 AIXHMBAEEXZ 91,000 91,000 0
Ofserol=2 sEIJILH K& 30,000
=& HEIIRM A& 20,000
ON= 2dIIQHM X& 20,000
2AA HZ2IIM A& 12,000
OME i JIQH X 9,000

Ot 232 s X3 439,662 488,514 A 48,852

308 X SHAMSOIA 439,662 488,514 A 48,852

01 AIXHMBAEEXZ 144,000 160,000 A 16,000
O30t IteE =2A4=sA 144,000

10 ST 2SO UsHE A XN EAISHI 295,662 328,514 N 32,852
OXOIIteE 2ses NIAY 295,662

=0tg 23z ddila XA 302,800 294,500 8,300

307 212t01 & 175,000 167,000 8,000

04 QI2FSH AFAFS B X 175,000 167,000 8,000
OHM38e sS=A=H A 15,000
OHMI53 thstel=HA= M &It 30,000
OHM333 s=x3424 A=H 15,000
OHM29s ===22H H=A 15,000
OM293 =222 X &It 30,000
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Off &t 24

6,000
6,000
6,000
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13,000
10,000
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233,100
233,100

100,000

8,100
25,000
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A= 2gHsDR= FA 2etis A
MM 2350z B
tel: Eetols S8R (cho &)
= - . SHE]|
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
-SJANE 1,000
-EE(3) 3,000
—EtYIAEHE 2,000
- IHHIR 10,000
gEsis220EA 3,635,144 3,253,592 381,552
| 3,355,750
= 279,394
308 XXl EHH SOl A 3,635,144 3,253,592 381,552
| 3,355,750
= 279,394
01 AXSGHBLELS 3,635,144 3,253,592 381,552
Osg=2s0l28d At 3,635,144
| 3,355,750
< 279,394
HEIFANSBROEA NY NAZTZH 2 66,402 77,573 AT
308 XXM S0 A 66,402 77,573 211,171
10 ZIIZSOHEZA RS E A 66,402 77,573 AT
OSE2502A MY NAFTZH 29 66,402
S22 2F 311,315 274,887 36,428
307 2Iztol A 311,315 274,887 36,428
05 RIZIRI &3 311,315 274,887 36,428
OE=232 29 S 311,315
U= RE ALY 900,000 700,000 200,000
= 430,000
= 470,000
308 XXX SOIA 900,000 700,000 200,000
= 430,000
= 470,000
10 BN 2SUHUE3AHEAE A I 900,000 700,000 200,000
OdE s flssotel g4ds XA 900,000
= 430,000
< 470,000
NE 2 HE=SHS XA (HEAY) 1,904,000 1,904,000 0
308 XXX S0 1,904,000 1,904,000 0
10 SO 2 SOICHS B & X < E A HI 1,904,000 1,904,000 0
OXNAS3HESH X 1,904,000
L0 2oz gRIls &2 62,000 162,000 A 100,000
307 2I2t0l & 20,000 120,000 A 100,000
04 DI2FHALALSE E X 20,000 120,000 A 100,000
OG0Iste HEER &X 20,000
308 XtXIEHHSOIA 42,000 42,000 0




A= 2o Ms2E= PN 230l A
M 2oz 2L
el 2z SN (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 42,000 42,000 0
OHH=AME =X 30,000
O&= A=2=0 ssd3AHE 12,000
230t 2SN 319,584 314,357 5,227
307 gl2tol & 319,584 314,357 5,227
03 QIZtHNHE2HEHEX 319,584 314,357 5,227
OE=0SE AMFES 28 24l 147,191
Os=2UE dA=TE 28 24l 106,588
Os=25 /085 2YX 2 64,252
Os==sl=2sy 23X 1,553
SHE AdFM=tH SEXA 624,000 624,000 0
J| 312,000
< 312,000
308 XXM SOIA 624,000 624,000 0
J| 312,000
< 312,000
10 SII 2 SOICHEHE & & 2 E A I 624,000 624,000 0
O39E &dF0=tH sS4 624,000
J| 312,000
< 312,000
HE U JAZZTONIC HIAEIE 140,000 140,000 0
308 XX EHHSOIA 140,000 140,000 0
01 HXNHHNBHELS 140,000 140,000 0
O& YU JAZZTONIC HIAEIE 140,000
NE2tt=n=|II8t 25 1,742,200 1,742,200 0
= 871,100
< 871,100
308 X EHH SOl 1,742,200 1,742,200 0
= 871,100
< 871,100
10 B3I/ 2SS ZAEEALS I 1,742,200 1,742,200 0
OXEzsttlznsIIg 25 1,742,200
= 871,100
< 871,100
SOtz XA 200,000 300,000 100,000
= 100,000
< 100,000
308 XtXIEHH SOl A 200,000 300,000 2100, 000
= 100,000
< 100,000
10 SII 2 SOICHEHE & X 2 &AL I 200,000 300,000 100,000
OROtZstMzn KA 200,000
= 100,000




A= 2o Ms2E= PN 230l A
M 2oz 2L
tel: Eetols S8R (9 ® =)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 100,000
SRS A QEHY 240,000 280,000 A 40,000
= 120,000
< 120,000
308 AHXIEHHSOIA 240,000 280,000 A 40,000
= 120,000
< 120,000
1037/ 2S0HUHeBHEAEALS I 240,000 280,000 A 40,000
Oz At CIEY 240,000
= 120,000
< 120,000
24E = A XA 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 QIZFHALAIH E = 50,000 0 50,000
OAE St0i=dA K& 50,000
2stltEs 29 K& 50,000 0 50,000
= 50,000
308 XXIEHHSOIA 50,000 0 50,000
= 50,000
01 AXHHILEES 50,000 0 50,000
O=sn&Eas 249 K& 50,000
= 50,000
R4 ds2E 29,129,709 18,428,801 10,700,908
= 14,942,534
J| 1,367,584
< 12,819,591
SoRae B0 Xl EE 29,129,709 18,428,801 10,700,908
= 14,942,534
J| 1,367,584
< 12,819,591
=S NHNEZ2M 2+ Fbl 12,215,050 5,308, 128 6,906,922
= 9,805,100
< 2,409,950
403 A X EHHS =0l A 12,215,050 5,308, 128 6,906,922
= 9,805,100
< 2,409,950
01 X EHHMA=ZLE L 12,215,050 5,308, 128 6,906,922
O2IXE 3t 2+=Fl 12,215,050
= 9,805,100
< 2,409,950
=HNE dHIlEgE X8 B 208,250 204,000 4,250
= 171,500
= 36,750
403 MtXISHH S0l & 208,250 204,000 4,250




A= BHs2HE= 2A 23t = At Dt
HH: 23R4 HERE
S S s 2= OIXl &S (&2 &)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
= 171,500
== 36,750
01 MXHAMAEBE = 208,250 204,000 4,250
O=2JIXE dAHIIEE s 208,250
= 171,500
= 36,750
2IHKE 23 =001 2 D] 165,970 158,508 7,462
= 165,970
403 XX S M S K201 A 165,970 158,508 7,462
= 165,970
01 XIS AE2E X 165,970 158,508 7,462
O=IXNE 23t Z=IH0IH A D] 165,970
= 165,970
o HHUYHLXAIE 25 259,500 579,250 A319,750
Jl 173,000
= 86,500
403 XX S S K201 A 259,500 579,250 A319,750
Jl 173,000
= 86,500
01 MHXHNMAHEE = 259,500 579,250 AN319,750
O=2IXE S SIH&H & 259,500
Dl 173,000
== 86,500
2K E S M SIHAE gX22 X3 195,500 183,600 11,900
Jl 161,000
& 34,500
308 AXISHAMSOIA 195,500 183,600 11,900
Dl 161,000
== 34,500
01 AIXHMBAEXZ 195,500 183,600 11,900
OZINE2S M BMAIE S22 XN 195,500
Il 161,000
= 34,500
S ot AHIE HIX ¥ 28 259,500 269,767 A~ 10,267
J| 173,000
o= 86,500
308 XX SHHSOIH 259,500 269,767 N 10,267
J| 173,000
o= 86,500
01 AXHNBNMNEXZ 259,500 269,767 AN 10,267
O23M ot&dAHI | HiX & &= 259,500
Jl 173,000
== 86,500
=IINE 2SI &M loTAIAE 2= 42,500 0 42,500
Jl 35,000




AR 2HHSDEYR SN RSsAYD
M Fore BSEBE
Sl 2ERMO BED X FEB CERED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
< 7,500
308 XXM SO A 42,500 0 42,500
J| 35,000
< 7,500
01 IXNHHBNEES 42,500 0 42,500
O=JMXNE 2 & loTAIAY 2= 42,500
J| 35,000
< 7,500
HdSAE 2 Fl 1,515,000 1,605,000 290,000
= 1,010,000
< 505,000
403 XIS E X201 & 1,515,000 1,605,000 290,000
= 1,010,000
< 505,000
01 X SHHA2E = 1,515,000 1,605,000 290,000
O&ESAHE E=FH| 1,515,000
= 1,010,000
= 505,000
HSAE ETHAAE 25 836,250 593,250 243,000
= 557,500
< 278,750
403 HXSHHSA=0l& 836,250 593,250 243,000
= 557,500
< 278,750
01 X SHHMA=LE L 836,250 593,250 243,000
ONSAE STAIAE 25 836,250
= 557,500
< 278,750
HSAHE ZTHAAE SXES 313,251 228,627 84,624
= 208,834
< 104,417
403 MtXISHH S0l & 313,251 228,627 84,624
= 208,834
= 104,417
01 XM A=2EE 313,251 228,627 84,624
ONSAE YMAIAH RXE 313,251
=2 208,834
< 104,417
SHEX 23N 2Tl 4,653,000 4,200,000 453,000
403 MHXISHE X201 H 4,653,000 4,200,000 453,000
01 X SHHAN2E= 4,653,000 4,200,000 453,000
OEXNE Z3M 2+=3H| 4,500,000
OMAL SEEH B3 A 100,000
Oulatetn) S At 53,000




A= 2o Ms2E= PN 230l A
Y 2R HSEE
Sl 2ERMO BED X FEB CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
EXNE =2 &5 - 2 75,050 72,000 3,050
403 UHXISHHSA=0l& 75,050 72,000 3,050
01 XM= E L 75,050 72,000 3,050
OZXNE S22t &= - 2EAY 75,050
EXE 23 2=2+Hl 250,000 250,000 0
403 XSS A=0l& 250,000 250,000 0
01 XM A2E X 250,000 250,000 0
OZXNEZs M 224l 250,000
EXNEEZaM =0101g D] 122,760 122,760 0
403 MtXISHHE X201 & 122,760 122,760 0
01 X S22 = 122,760 122,760 0
O&EXNHE 23N =Jt01galD| 122,760
SEXNE=23 SHEHAS 232,405 167,405 65,000
308 MtXIEHMSOIH 95,405 91,405 4,000
01 X HHIBLEXS 95,405 91,405 4,000
OEXZE 23 2t sX2el 95,405
403 UHXSHHSA=0l& 137,000 76,000 61,000
01 HXSHMA2E X 137,000 76,000 61,000
OZXNEEZs M LTHEHIAY 137,000
g | 2el 124,500 124,500 0
403 UtXISHH S A0l & 124,500 124,500 0
01 X SN2 L= 124,500 124,500 0
Oguw |A&cltl 124,500
AHAFa IS AL X & 6,510 7,900 A 1,390
J| 6,510
308 XtXIEHH SOl A 6,510 7,900 A 1,390
J| 6,510
01 HIXNHHBHEELS 6,510 7,900 A 1,390
OXtH R4 DI AL 6,510
J| 6,510
PEESIM drns2t A X 120,000 0 120,000
= 80,000
< 40,000
403 MHXSHHSA=0l& 120,000 0 120,000
= 80,000
< 40,000
01 HXSHMA=E X 120,000 0 120,000
OfEEsM drns2 A28 XA 120,000
= 80,000
< 40,000
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AR BoHsHE=2 2N 230= 40
Y 2R HSEE
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
M2 2435 X3 24,650 67,732 N43,082
= 17,000
& 7,650
308 XAHXIEHSOIA 24,650 67,732 N 43,082
= 17,000
= 7,650
01 AIXSHMENMNEX= 24,650 67,732 N43,082
LE2M LU SHS ALY 24,650
= 17,000
=} 7,650
LHESH BHHAIX & 45,200 49,800 A 4,600
308 XHXIGH SO0l & 45,200 49,800 A 4,600
01 AIKSHHEMNEXZ 45,200 49,800 A4 600
SEAZSMH SHAL XA 30,200
ON8zl =223 stotY Z I8 A} 15,000
L2 S 215,400 213,300 2,100
308 XAHXIEHSOIA 215,400 213,300 2,100
01 AIXSHMEMNEX= 215,400 213,300 2,100
ORE 23 85X 215,400
IS JIE2EFALY 200,000 0 200,000
307 2iztol & 200,000 0 200,000
02 QIZIA AAIE E X 200,000 0 200,000
ORE 23 JISSAIE 200,000
SSH=E=S ALY 1,476,148 1,254,264 221,884
J| 738,074
= 738,074
307 QI2t0| & 1,476,148 1,254,264 221,884
J| 738,074
& 738,074
02 QI2tAAMAIE E =X 1,476,148 1,254,264 221,884
O2sM =S A 1,476,148
J| 738,074
& 738,074
MMESITH AL 453,250 271,250 182,000
= 259,000
== 194,250
308 AHXIEHSOIA 453,250 271,250 182,000
= 259,000
= 194,250
01 AIXSHMEMNEX= 453,250 271,250 182,000
OMMBSIIH AtY 453,250
= 259,000
= 194,250




A= 2gHsDR= FA 2et0E A
M. 2SRM NSEE
Sl 2ERMO BED X FEB EERED
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Eﬁ HR=2
SENNE SN 22 MY 609,000 258,000 351,000
= 348,000
& 261,000
308 XAHXIEHSOIA 609,000 258,000 351,000
= 348,000
o 261,000
01 AIXSHMENMNEX= 609,000 258,000 351,000
OSSN 23 S22 AMY 609,000
= 348,000
& 261,000
S5t OfsHTZ 2 e A 369,250 420,000 AB0,750
= 211,000
& 158,250
308 XNXIGHSO0l& 369,250 420,000 AB0,750
= 211,000
== 158,250
01 HXHHBIMNEXS 369,250 420,000 AB0,750
O3t M OfHZZ )& At 369,250
= 211,000
= 158,250
HSMA2SHH 2EAY 166,250 139,500 26,750
= 95,000
o= 71,250
308 XX SHHSOIH 166,250 139,500 26,750
= 95,000
o= 71,250
01 AIXSHMENEXZ 166,250 139,500 26,750
ONELANEZSH SHEAY 166,250
= 95,000
== 71,250
DNESEIHE 2 AMY 274,500 0 274,500
= 183,000
= 91,500
308 XHXIEH SOl A 274,500 0 274,500
= 183,000
= 91,500
01 AIXSHHENMNEX= 274,500 0 274,500
ONEEE ESAY 274,500
= 183,000
& 91,500
NG ESFA DAY 135,500 138,000 A 2,500
J| 81,000
& 54,500
307 212t0| & 56,000 60,000 A4 ,000
J| 28,000
= 28,000
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FoHs22= PN 230l A
SR WSRE
FotRAae BEW IR & (&)
= - — SHE]|
CRAN I E(BH) - HRANY - BES 0l &k 24 e bl D=2t
SH JIAAL S22 ME R ZH(HEAY) 425,000 180,000 245,000
403 UHXISHHSA=0l& 425,000 180,000 245,000
01 XM= E L 425,000 180,000 245,000
O=& IJHeAl SI2SME2 =4 425,000
MAs&E EE2te] At 1,309,000 30,600 1,278,400
= 1,078,000
< 231,000
308 XXM SO0 A 1,309,000 30,600 1,278,400
= 1,078,000
< 231,000
01 IXNHHBNEES 1,309,000 30,600 1,278,400
OMAHIR A B&2e At 1,309,000
= 1,078,000
< 231,000
23 eHLHE FHIAY 113,265 159, 160 A 45,895
2 77.630
< 35,635
403 XIS E X201 E 113,265 159, 160 A 45,895
2 77.630
< 35,635
01 XXM 22 = 113,265 159, 160 A 45,895
O=23M CHLHE HHIALS 113,265
= 77,630
< 35,635
NASRL EEXE ALY 568,900 0 568,900
= 403,000
< 165,900
308 A EHHSOIA 568,900 0 568,900
= 403,000
< 165,900
01 HIXNHHNBHELS 568,900 0 568,900
OMNAIRL ESXNH ALY 523,900
= 403,000
< 120,900
ORUlAZ AAHZsRL FH 45,000
NADIERS 28 2 82 195,000 70,500 124,500
= 150,000
< 45,000
308 XX EHHSOIA 195,000 70,500 124,500
= 150,000
< 45,000
01 AXSGHBLELS 195,000 70,500 124,500
ONADIERA 28 £ 8 X2 195,000
= 150,000
< 45,000
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AR 2SR SAHsHES
Hu: Asmol HIHE
SR T (29l & 2)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 500,000 500,000 0
01 HIXNHHBHNEELES 500,000 500,000 0
OAN=zZ 282718 X& 500,000
=M AZ= WX 26,000 121,000 A 95,000
202 o4dl 6,000 6,000 0
03 =R 6,000 6,000 0
O=32H20HI 6,000
301 LA F 20,000 40,000 220,000
06 212toI =2l 04l 20,000 40,000 20,000
O=2HMNAEZ=WEAA 20,000
& M=Es XN 9,135,464 9,096,464 39,000
307 gl2tol & 9,135,464 9,096,464 39,000
02 IZtA M AHE X 7,232,140 7,193,140 39,000
OXZHEIEAMNY 7,178,140
ON=sJI=ax4 54,000
03 QIZtHNHE2HHEX 1,903,324 1,903, 324 0
Os=Hd=3 MR2H29 1,903,324
JAE=HHM HFXR 302,400 302,400 0
307 glz2tol & 302,400 302,400 0
02 It MAHEE 302,400 302,400 0
OAESSHH HIXNH 302,400
SOIAA = KA 250,000 250,000 0
308 XXM SO A 250,000 250,000 0
01 IXNSHHBANEES 250,000 250,000 0
OEgHd 2gdl XN& 250,000
HdE2H=0E N 384,000 423,000 239,000
307 21201 A 80,000 80,000 0
04 DIZHHALALSE E X 80,000 80,000 0
OHM31al DIAHS=E dZUsl 10,000
OANzZHEeAXMOtetEW S 70,000
308 XtXIEHHSOIA 304,000 343,000 239,000
01 AXHHIYEES 304,000 343,000 239,000
OFSI E=REUs 120,000
Oz I AN=EUS 81,000
ORMI32l TXIAtH B35 8= HQ3E el 25,000
SESETTA d=22=E4 3 8,000
02020 =X NAHIFESAEE=Z U2 70,000
Mo ATX Y3 X 50,000 50,000 0
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AR 2SR SAHsHES
HH: =m0l HIAE
SR T (er:@e)
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Eﬁ HR=2
307 2Iz2to| & 50,000 50,000 0
02 QIZHA AAIE E X 50,000 50,000 0
OMAATTX SM5 K& 50,000
MEHSEE 4,539,042 4,373,902 165, 140
J| 2,853,042
& 1,686,000
MEH=E K 2,000 2,000 0
202 04| 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OMEE =204 2,000
MEHS XIS A BRI (Al2) 1,128,144 1,050, 300 77,844
J| 1,100,784
& 27,360
308 XAXIGHHM SOl & 1,128,144 1,050, 300 77,844
J| 1,100,784
& 27,360
01 IXHHIMNEEXTZ 1,128,144 1,050,300 77,844
OgetMeEtH s X =X+ X 1,128,144
J| 1,100,784
& 27,360
HEN HMsE2s K& 44,940 45,000 A 60
Jl 22,470
& 22,470
307 2Iz2t0| A 44,940 45,000 A B0
Dl 22,470
c 22,470
04 SIZ2HSHAAISH E & 44 940 45,000 A B0
OF=0HESNMEN U 44 940
J| 22,470
& 22,470
24 HEssEs X (A2) 994,548 952,272 42,276
J| 970,428
= 24,120
308 XHXIEH SO0l & 994,548 952,272 42,276
J| 970,428
= 24,120
01 AIKISHHENMNEXZ 994 /548 952,272 42,276
Ozal MeEd=X X B X 994,548
Jl 970,428
= 24,120
AEZX2L 0l2H XY 922,080 922,080 0
J| 759,360
o= 162,720
308 AMXISHMSOIA 922,080 922,080 0
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A= 2oMs2 £ &
Hu: Asmol HIHE
Sl MEHSHE (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 90,000 100,000 A 10,000
04 QIZHH AL AR 2 & 90,000 100,000 ~10,000
O2Z M=& ALK& (POOL) 90,000
A= M4AXEH U3 45,000 75,000 A 30,000
308 XXIEHSOIA 45,000 75,000 A 30,000
01 IXNHHBNEES 45,000 75,000 230,000
OZSEALMNMIMATAEN Ha 27,000
OUMDN=HRN LRAJ77AHEN D= O
=] 18,000
AN XA 51,000 36,000 15,000
308 XtXIEHH SOl A 51,000 36,000 15,000
01 AXHHILEES 51,000 36,000 15,000
OMHH AT 36,000
OS2 s2Z 2 =AU 15,000
MEHSSEE TVEH 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
02 It M AMHEE 12,000 12,000 0
OdeEM=sd TVEA 12,000
== TUSHwY 18,000 18,000 0
307 21201 A 18,000 18,000 0
04 QIZFHALAIH B = 18,000 18,000 0
Os=2zsdnsy 18,000
=720 X ¥ X& 46,000 46,000 0
308 XX EHH SOl A 46,000 46,000 0
01 HXNHHBHELS 46,000 46,000 0
OWK(GiX==2)eld R 46,000
A= ROUHAMAE K& 70,000 70,000 0
308 X EHSOIA 70,000 70,000 0
01 HIXNHHBMNEELES 70,000 70,000 0
OX=RUUMHE 70,000
AEFIIME XA 4,050 4,050 0
307 glz2+ol & 4,050 4,050 0
04 QIZFHALAIH B = 4,050 4,050 0
OUKAEIIUE XA 4,050
a4 =23 IFUE 15,000 15,000 0
308 MtXIEHSOIH 15,000 15,000 0
01 AXHHILEES 15,000 15,000 0
O=2AH 8 -5 E4Y P=23 WFUHS 15,000




AR BoHsHE=2 2A =i s
HH: =m0l HIAE
Sl MEHSHE (B9 ®R)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
E=EZH (& A 150,000 150,000 0
307 2Iz2t0| A 100,000 100,000 0
04 QI2SHALAIRE B &= 100,000 100,000 0
EE=ZCH (& H 100,000
308 AXIEHMSOIA 50,000 50,000 0]
01 AIKISHHENEXZ 50,000 50,000 0
E=EZCHE YEE 50,000
HsWsl X& 39,000 24,000 15,000
307 QI2t0| ™ 39,000 24,000 15,000
04 CIZ2tSHALALS B X 39,000 24,000 15,000
OZ= XA BSOS 9,000
Odtsel1 &I X« 30,000
HAHMEEE , 779,596 5,544,950 234,646
J| 668,248
& ,111,348
0T AEAY 4,739,313 4,635,086 104,227
307 2iz2to| & 4,739,313 4,635,086 104,227
02 QIZ2IAAAIE E X 3,702,478 3,702,478 0
O&MAMEE=EALS 2,211,388
OXHAUAAIRAAEI2A ,312,090
OReHdd SEXNSE 179,000
03 AU EESAHES 966,835 862,608 104,227
OSE=ZHMAUAZE AMPBH2HEH| 966,835
04 SIZ2ISHAAISH E & 70,000 70,000 0
OZEXNAMUAEZ2EMAY=UZ 70,000
O HEUHE XS 100,000 100,000 0
J| 19,000
= 81,000
307 212t01 & 100,000 100,000 0
J| 19,000
& 81,000
04 CIZ2tSH ALALS B X 100,000 100,000 0
OO 100,000
J| 19,000
& 81,000
O MEN SRS XX (MS3]) 144,840 109, 152 35,688
Dl 72,420
o 72,420
307 212t0| & 144,840 109, 152 35,688
J| 72,420
o= 72,420
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AR 2SR SAHsHES
Hu: osmol MRS
ool HOQUHSEES EERED
- _ _ =]
AR 2A BB (BH) - HEAY - BYS 0l Ak o8 %Ei HDS2
02 DIZtZAAMEE X 144,840 109, 152 35,688
OZ 0Kl M & Xl = Xl & XK X 144,840
Il 72,420
= 72,420
O ME S XS RHEH X (Al 2) 709,715 576,232 133,483
Il 506,940
& 202,775
308 AHX| S SO0l 709,715 576,232 133,483
Il 506,940
& 202,775
01 AXNHMIAEES 709,715 576,232 133,483
O&OIME =X & A X X & 709,715
Il 506,940
T 202,775
HOHUAEZAXOIZEAEAXN A (AIZ) 79,968 24,480 55,488
J| 65,856
T 14,112
308 XXM SO0l A 79,968 24,480 55,488
Dl 65,856
< 14,112
01 AXHNBMNEXZ 79,968 24,480 55,488
OFOH ATZAX 0/2A X 79,968
Il 65,856
& 14,112
N AZIAFOIZEAXN(MEE) 5,760 0 5,760
Il 4,032
& 1,728
307 212t01 & 5,760 0 5,760
Il 4,032
& 1,728
02 DI2ZtZ AAMEE X 5,760 0 5,760
OFOHY ARXAX 0|2 X 5,760
Il 4,032
< 1,728
HESAE &5 68,882,217 47,221,130 21,661,087
Fax 13,706,000
Dl 22,090,500
= 33,085,717
SSALXME 22 170,217 189, 130 A 18,913
307 QI2t0| ™ 170,217 189, 130 A 18,913
02 DI2HEAAIEE X 170,217 189, 130 A 18,913
OF=AEZXHME 22| 170,217
TOXAE Al X2 AS 2,750,000 2,750,000 0
403 X SHMS K201 A 2,750,000 2,750,000 0
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AR 2SR SAHsHES
Hu: Asmol HIHE
S MSAE =25 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 2,750,000 2,750,000 0
O2021F S2ME Al XA 2,750,000
MSAE 222 AHY 10,000 100,000 290,000
403 MtXISHHE X201 & 10,000 100,000 A 90,000
01 XM A=2EE 10,000 100,000 290,000
OMSAIE cl2dd Al 10,000
S3HSAEMNE S 10,000 10,000 0
201 Let24dy] 10,000 10,000 0
02 2324gHl 10,000 10,000 0
Os=Edssa dEH 10,000
C=sd Jigd Suds2 28 X3 480,000 0 480,000
J| 480,000
403 UHXSHHSA=0l& 480,000 0 480,000
J| 480,000
01 HXHMA=LE X 480,000 0 480,000
OU=R Hed sudsa A8 N2 480,000
J| 480,000
SeXNSHHAL IR 19,400,000 8,400,000 11,000,000
J| 9,300,000
< 10,100,000
403 MtXISHHE A0l & 19,400,000 8,400,000 11,000,000
J| 9,300,000
= 10,100,000
01 XM A=2EE 19,400,000 8,400,000 11,000,000
O=gd=sdg 28 19,400,000
J| 9,300,000
< 10,100,000
HEIEAL XA (ME) 29,697,000 30,572,000 A 875,000
s 13,706,000
= 15,991,000
403 A X EHS =0l A 29,697,000 30,572,000 A 875,000
s 13,706,000
< 15,991,000
01 AXISHHX2E = 29,697,000 30,572,000 A875,000
OMSIEANE XN (4HE) 29,697,000
as 13,706,000
< 15,991,000
AASI W OHESEHSs2 AE 9,500,000 4,000,000 5,500,000
J| 8,500,000
= 1,000,000
403 MHXSHHSA=0l& 9,500,000 4,000,000 5,500,000
J| 8,500,000
< 1,000,000
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AR 2SR SAHsHES
Hu: dSHol HSHE
S MSAE =25 (cho &)
= - — SHE]|
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 9,500,000 4,000,000 5,500,000
O&LFHI W eSS AE 9,500,000
J| 8,500,000
< 1,000,000
Jelded AR s AR 3,209,500 0 3,209,500
J| 1,400,000
< 1,809,500
403 MHXISHE X201 & 3,209,500 0 3,209,500
J| 1,400,000
< 1,809,500
01 X SHHN2E = 3,209,500 0 3,209,500
Ol dad A2 dHsa A8 3,209,500
J| 1,400,000
S 1,809,500
SSHSAMENE S 3,655,500 0 3,655,500
J| 2,410,500
< 1,245,000
403 A X EHHSH20IA 3,655,500 0 3,655,500
J| 2,410,500
< 1,245,000
01 X ESHHMA=LE L 3,655,500 0 3,655,500
OBTHSAE W22 X 3,655,500
J| 2,410,500
= 1,245,000
=S M AL K& 1,827,500 5,222,363 A 3,394,863
=HEA & SHIP2RA 39,000 41,000 A 2,000
201 L2l 11,000 11,000 0
01 At 2t 2l 11,000 11,000 0
O2MBAMKE Lo a2 10,000
O2MBAXE S| 1,000
202 Odl 3,000 3,000 0
01 = LHA YI 3,000 3,000 0
OZMEALX 2 S LHOYI 3,000
203 R =& 5,000 7,000 A 2,000
03 A F=XH R =ZH| 5,000 7,000 A 2,000
ORMBAMXE A2EZ 5,000
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B & 20,000 20,000 0
OHM SRz 1253 20,000
MASUHOIAHYRIZ S K& 700,000 762,893 A 62,893
307 gl & 700,000 762,893 A 62,893
02 It M AHE L 700,000 762,893 A 62,893
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AR 2SR SAHsHES
Hu: Asmol HIHE
el MM X (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OMHASOOtAHY 2 3l (WMC) X 700,000
IMRUAEH 29 X2 688,500 651,500 37,000
307 glz2+ol & 688,500 651,500 37,000
02 QIZtE M AHE X 420,000 400,000 20,000
OZHMSOEE(ICMAIY X2 (HS) 420,000
03 QIZtHNHE2HEHEX 268,500 251,500 17,000
OFZMIUME(ICM S X (UHS) 268,500
SHMBUBE SSHH (S EAL) 400,000 1,000,000 A 600,000
307 glz2tol & 400,000 0 400,000
04 QIZFHALAIH E = 400,000 0 400,000
O=HMIo A& H3HH 400,000
HHR2IZH(MSHED) 49,986 49,986 0
Jl23l 49,986 49,986 0
JlE2&l 49,986 49,986 0
201 L4l 15,966 15,966 0
01 At 2t 2l 15,966 15,966 0
OJl2+8Hl 6,516
OJles gl 9,450
202 O4dl 34,020 34,020 0
01 = LH 4 Hi 34,020 34,020 0
Ol 34,020
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0
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SHs2E= EM 223
SOMX 224t s4
AT go B M CEEEED
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
=1 15,906,125 23,302,825 AT,396,700
s 2,122,000
J| 992,000
= 12,792,125
SOIX 2ZaAasd 14,817,877 22,497,177 AT,679,300
s 2,122,000
J| 992,000
< 11,703,877
et 2ZF M 1,517,800 1,757,050 A 239,250
J| 140,000
< 1,377,800
22Eds =8 42,000 36,000 6,000
201 2et24d] 13,000 13,000 0
01 At 22l 13,000 13,000 0
Ot & =2t 13,000
203 YR =&l 9,000 3,000 6,000
03 AIHF=XH R =AH| 9,000 3,000 6,000
OBZEHS Y2x7 9,000
307 glz2tol & 20,000 20,000 0
05 RIZt2lE = 20,000 20,000 0
OBZY RIS S8 21 - 2 85 ARHY 9
a5 20,000
oS0l SIZ=H 60,000 50,000 10,000
201 Let24] 60,000 50,000 10,000
03 A2 Z I 60,000 50,000 10,000
OMzaiiol sl2d=H 60,000
OIS M HAEIY(MEAY) 800,000 1,000,000 A200,000
307 glz2+ol & 800,000 1,000,000 A 200,000
05 RIZt2IE = 800,000 1,000,000 A200,000
OHM103 S=2lxstd HAEE 800,000
St =HI 280,000 320,000 A 40,000
J| 140,000
< 140,000
308 MtXIEHMSOIH 280,000 320,000 240,000
J| 140,000
= 140,000
01 HXNHHBHELS 280,000 320,000 A 40,000
O2AZEMX S 280,000
J| 140,000
< 140,000
NE=H s4X& 283,800 284,250 A 450
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A= 2oHs2E3 PN AF25
Hu: FH25 I4
& F=HES MM (cho &)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
Os0HE Z0HQl FEIHZALY 293,930
= 172,900
< 121,030
HSFEAMNY N3 X2 736,536 1,227,562 A 491,026
| 736,536
403 UtXISHH S0l & 736,536 1,227,562 A 491,026
| 736,536
01 AXSHMA=2EE 736,536 1,227,562 A 491,026
OH=E=8 XA 736,536
| 736,536
folsul el 4,281,000 4,783,000 502,000
s 3,685,000
< 596,000
403 A X EHS =0l A 4,281,000 4,783,000 A 502,000
s 3,685,000
< 596,000
01 X EHHM A= LE L 4,281,000 4,783,000 A 502,000
OZAIMA sdA (Rl sUlacll) 4,281,000
s 3,685,000
< 596,000
S AITHA AL 40,130,310 23,763,000 16,367,310
s 35,008,000
< 5,122,310
307 glz2+ol & 287,310 250,000 37,310
05 RIZHRI & 3 287,310 250,000 37,310
SESE SAMYEXMEH 28 N 287,310
308 XXIEHH S0l A 50,000 50,000 0
01 IXNHHBANEES 50,000 50,000 0
OZANMY =€ XNFAe 25t 50,000
403 A X EHHS =0l A 39,793,000 23,463,000 16,330,000
s 35,008,000
< 4,785,000
01 X ESHHMA=2LE L 39,793,000 23,463,000 16,330,000
OZANTHY =AY 33,490,000
s 28,705,000
< 4,785,000
OZAMM(ZHEBH)ALS 6,303,000
-5 AZY 2o EIA TH2Z TAMY 2,986,000
ras 2,986,000
-HAE AT SAIMY SHEAS 3,317,000
s 3,317,000
HYRIZH (HE23 D) 51,186 49,986 1,200
JlEZdl 51,186 49,986 1,200
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